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Math 1116, Apportionment Activity, FaII12014
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Instructions: Use the Huntington-Hill méthod to apportion seats in problems #1 and #2. In the
remaining problems, identify the paradox being illustrated and explain how you recognize it. Circle the

relevant violations.

1. Total Seats Available: 210

|
\
1
State Population Standard

Final
‘ Qvuotarf LQ (/LQ\ ] m Apportionment
Kanteria 88,129 ,
- s#He. S 557 1| A1 54
Humea 79,340 ‘ o _
49.05 49 So | YTt 49
Cartesia 89,920 o B g
§5.5% 55 St Ssuavr Sb
Socrati 54,543 L .
ocration 4 33 :}' {)J) 5% 3%4@6} 34
Plateau 27,881 .
1722 [F ¥ (74322 ‘=
Total %295]% | ALO
SD= let$. 1L |
2. Total Seats Available: 39
State Population Standard Final
Quota L (_\:'\ : [/{ &2 Apportionment
Charon 965 :
lo4s o Ll A
Nix 219 | y
2.49 & E 5
Hydra 519 —
5i8Y 5 b W
Kerberos 828
2490 9 10 9
Styx 1906 .
lo.2g (O 1 O -
Total A4S F A9
SD= BR.12%
Population Seats
1000 1901 1900 1001
Maine 6094466 699114 3 4
Virginia 1854184 1873051 10 o]
3.
L W~ Y
Mave = == qmoc 7 batte = ~OOEHIZ. .
Vivoina, SAHSISISHEN . AR 6000 (o gfr vt
1% S &Y [ 865 H1RY

ok leoka Seat

L__,l&i,.@.fﬂ .-LL@{:{ tfév') P@J/{.L. (L tx}(_



House of 299 | House of 300 __
; t S i q o AN A
Alabama 7.646 7.671 :@ﬂ'(,@t.éujm )Lu‘&.« |
Texas 9.640 0.672 é/ ~pAb LOY
Ilinois 18.640 18.702
4- Fa 4. A < ) 4 Jﬁ
LD %q Sl _;’-{'&({ AJ--?J"—-@'- {/{/{ f‘//ﬂ( f._j(_.cc..n‘ -
uS] oo soaty f_:[r[{,h S {;/}_r 1o A cnafed
With 10 seats With 11 seats |
. ! |
| |
State Population ' Fair share : Seats Fair share Seats
| ]
A 6! 4.286| 4 4714 5
B 4.286]l 4 4.714 5
2, 1.429% 2 1,571 1
|
Alaboama Fowadey — ot sals, bk C [opeae Seat
6. '
District A B Total
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District A B C Total
Population 1045 8955 525 10,525
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Time A Quota Time A Time B Quota Time B
A 55 1.63 1 62 1.59 2
B 125 3.72 4 150 3.83 4
C 190 5.64 6 218 5,57 5
Total 370 / 11 430 11
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